HABIEA FRA
RERIBHEE AR — LIGHE
ER20FE REH

o

\/éllli\ HBMAOFELUKEEZLTHYFTT, fl'ﬁff%'ib%%\

IEDE=OIEBREBAZTO>THYEIT A, FTEERKSED
EYHhdUET, BEREZAERHDOHIZ, AETIIESRHE
HBEEDOTHYEST, TELI-Y—ERADE=HIZLESRE
REELTHRYET,

\ J

é;;%E?@ﬂﬁ@ﬁéﬁﬁtﬁﬁ?@tbtk@g\
T —ERBEBAICRYEA THYE T,

TAHY—E Xt 2—HEHKE
-HENEXZEL2—BHKE
-EENEXZEL2—BHKE
RN EY—E R A—EHE
I —TFR— LKEHE

- KR ERF UL RREAT
\ BT —EX /




BEEXTRE

(B)H25.4.1(2)H26.3.31

H26.3.31IR7E (BACTFH)
EEDED BEDE
BER B o EER B o
MENEEE 381,965 [mEEE 139,834
EE&E 2,577,075 |BEEAE 1,105,342
BEDOIEET 1,245,176
& EDHED
EXE 226,029
EEMBEERIELE 310,970
TOMEILE 0
RIFIE BTN E R 1,176,865
(56, BHETINEER) 49,333
TMEED S 1,713,864
BEEDEAE 2,959,040 | BERVMEEDI AT 2,959,040
EXERYPPIEFES
(B)H25.4.1(F)H26.3.31
H26.3.31IR7E (BACTFA)
BER B &5
FENZDED
FEEFEHUNAGTO) 900,614
FEEHHE(2) 840,700
EEREHINEERR(3)=(1)-(2) 59,914
FEFHIMNDEB
EEEHUNAGT(4) 712,211
FEEEFHHED) 122,751
EXREHINZEEE(6)=(4)-(5) -10,541
U Z=%8(7)=(3)+(6) 49,374
R RIS DED
R BN AEH(8) 0
Rr Bl 32 HEH(9) 41
R BN S 2= 80(10)=(8)-(9) -41
LEEEIN ZE(11)=(7)+(10) 49,333
TR BN =R DD
AR BN EEA(12) 1,127,532
LHAREBIEFINEFR(13)=(11)+(12) 1,176,865
REAREEE BN 5 1,176,865




éfi\,ﬁ%ﬂﬂi:ﬁr

B5)H25.4.1(F)H26.3.31
H26.3.311R1E
e R B T EE

B &N DED

REEWIXAEHT) 1,674,337

R HEH(2) 1,470,181
EXEFINEF)=(1)-(2) 104,156
BB R FICL DN

Rex B iR FINAET(4) 0

R e B fm < HEH(5) 21,031
fex BliEEFE T INZEE(6)=(4)-(5) -21,031
B EHITLDIN

BAFUINAE(T) 22,600

BAF5 > EH(8) 81,403
M EEIN EFA(9)=(7)-(8) -58,803
LHE SN ERA(10)=(3)+(6)+(9) 24,322
AR WNEREE(1) 217,809
SRV ERES10)+011) 242,130

(Bf:+H)



